
 Montageanleitung Construction Manual Notice de montage

Art.-Nr.

©
 K

NA
PP

® G
m

bH
  |

   A
lle

 M
aß

e 
in

 m
m

 - 
Irr

tü
m

er
, D

ru
ck

fe
hl

er
 u

nd
 Ä

nd
er

un
ge

n 
vo

rb
eh

al
te

n 
 | 

 A
ll 

m
ea

su
re

s i
n 

m
m

 - 
 E

rro
rs

 e
xc

ep
te

d 
  |

  T
ou

te
s d

im
en

sio
ns

 e
n 

m
m

 - 
sa

uf
 e

rre
ur

s, 
fa

ut
es

 d
‘im

pr
es

sio
n 

ou
 m

od
ifi

ca
tio

ns
 

©
  A

lle
 Z

ei
ch

nu
ng

en
 si

nd
 E

ig
en

tu
m

 d
er

 K
NA

PP
® G

m
bH

   |
  A

ll 
dr

aw
in

gs
 a

re
 th

e 
ex

cl
us

iv
e 

pr
op

er
ty

 o
f  

 K
NA

PP
® G

m
bH

.  |
  T

ou
s l

es
 d

es
sin

s s
on

t l
a 

pr
op

rié
té

 d
e 

KN
AP

P®
 G

m
bH

 VERSION 



Montageanleitung

Korpusverbinder

©
 K

na
p

p
 G

m
b

H
. 

A
lle

 M
a

ß
e

 in
 m

m
 -

 Ir
rt

üm
e

r,
 D

ru
ck

fe
h

le
r 

u
n

d 
Ä

n
d

e
ru

ng
e

n
 v

or
b

e
h

a
lte

n
. 

  
 V

E
R

S
IO

N
  

  
  

2
0

. 
09

. 
2

0
2

1

Seite 1/1

Art.-Nr. K856/S, K856/A

D
ie

se
 Z

e
ic

h
n

u
n

g
 is

t 
E

ig
e

nt
u

m
 d

e
r 

K
n

ap
p

 G
m

b
H

.

FIYU® LOCK 14

FIYU® LOCK 14 Steckteil (Art.-Nr. K856/S) FIYU® LOCK 14 Aufnahmeteil (Art.-Nr. K856/A)

40

O 4,7

7
,5 1

3
1

3
,2

2
6

,2R
50

,2

9,3
6,9

3,6

7
,5

1
3

,2

5,9O

6,9
9,3

1. Fräsen

R
50

1
4

2. Einsetzen

3. Bauteile zusammen stecken 4. Spannschraube eindrehen

9,8 9,8

1
4

Bohrung O6

1. Fräsen und Bohren

2. Einsetzen

7
,5

M 1:1 M 1:1

M 1:2 M 1:2

M5x13 ISK 5
oder M5x13 Torx 15

AUF

ZU



Page 1/1

D
ie

se
 Z

e
ic

h
n

u
n

g
 is

t 
E

ig
e

nt
u

m
 d

e
r 

K
n

ap
p

 G
m

b
H

.
Assembly Instructions

©
 K

na
p

p
 G

m
b

H
. 

A
ll 

m
e

a
su

re
s 

in
 m

m
 -

 E
rr

o
rs

, 
m

is
p

rin
ts

 a
nd

 c
h

a
n

ge
s 

re
se

rv
e

d
. 

   
V

E
R

S
IO

N
  

  
  

 2
0

.0
9

.2
0

2
1

Cabinet connector
Art.-No. K856/S, K856/A

FIYU® LOCK 14

FIYU® LOCK 14 plug-in part (Art.-No. K856/S) FIYU® LOCK 14 holding part (Art.-Nr. K856/A)

40

O 4,7

7
,5 1

3
1

3
,2

2
6

,2R
50

,2

9,3
6,9

3,6

7
,5

1
3

,2

5,9O

6,9
9,3

1. Milling

2. Insert

3. Put the components together 4. Screw in the clamping screw

9,8

1
4

drilling O6

1. Milling and Drilling

2. Insert

R
50

1
4

9,8

7
,5

M 1:1 M 1:1

M 1:2 M 1:2

M5x13 ISK 5
or M5x13 Torx 15

open

off



Page 1/1

Ce
 d

es
sin

 e
st

 la
 p

ro
pr

ié
té

 d
e 

Kn
ap

p 
G

m
bH

.

©
 K

na
p

p
  

G
m

b
H

. 
T

o
u

te
s 

d
im

e
ns

io
n

s 
e

n
 m

m
 -

 s
a

u
f 

e
rr

e
u

rs
, 

fa
u

te
s 

d
'im

p
re

ss
io

n
 o

u
 m

od
ifi

ca
tio

ns
 te

ch
n

iq
u

e
s.

  
V

E
R

S
IO

N
  

  
2

0
. 

0
9.

 2
0

21

Notice de montage

Assembleur corps de meubleRéf. K856/S, K856/A

FIYU® LOCK 14

FIYU® LOCK 14 - pièce mâle
(Réf. K856/S)

FIYU® LOCK 14 - pièce femelle
(Réf. K856/A)

40

O 4,7

7
,5 1

3
1

3
,2

2
6

,2R
50

,2

9,3
6,9

3,6

7
,5

1
3

,2

5,9O

6,9
9,3

1. Fraiser

2. Insérer

3. Emboîter les éléments 4. Visser la vis de serrage

9,8

1
4

Perçage  O6

1. Fraiser et percer

2. Insérer

R
50

1
4

9,8

7
,5

M5x13 ISK 5
ou M5x13 Torx 15

Ouvrir

Fermer



Knapp GmbH I Wassergasse 31  I A-3324 Euratsfeld I Tel.: +43 (0)7474 / 799 10 I Fax: +43 (0)7474 / 799 10 99 
Knapp GmbH I Vertrieb Deutschland I Föhrenweg 1 I D-85591 Vaterstetten I Tel.: +49 (0)8106 / 99 55 99 0 I Fax: +49 (0)8106 / 99 55 99 20 I E-Mail: info@knapp-verbinder.com
Knapp GmbH Sàrl I Filiale France I 1A Rue du Stade I F - 67880 Innenheim Tel. : +33 (0)3 88 48 17 87 I Fax: +33 (0)9 70 62 81 87 I E-Mail : france@knapp-connectors.com


	Text1: FIYU® LOCK 14
	Text2: 20.09.2021
	Textfeld 3: 
	Textfeld 4: K856/S, K856/A


